
C:=symetrie(d,B);segment(B,C,
affichage=jaune+ligne_tiret_pointpoint);
[point(0,4),segment(point(2,0),point(0,4))]

segment(C,M,affichage=cyan);
segment(point(0,4),point(-3*(1-m)+m*(-1+i)))

N:=inter(droite(A,C),d)[0];
point(-5/3,2/3)
polygone_ouvert(A,N,B,affichage=rouge+epaisseur_ligne_2);
polygone(point(-2,0),point(-5/3,2/3),point(2,0),point(’affichage’=65537))

segment(C,N,affichage=vert);
segment(point(0,4),point(-5/3,2/3))

lm:=evalf(longueur(A,C));
legende(-3-4*i,lm,affichage=rouge);
[4.472135955,point(-3,-4)]
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